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2 – 4ac
4a2

b2 – 4ac
=  

4a2 



  

ax2 + bx + c = 0

The Quadratic Formula

This is a quadratic equation 
written in standard form.  The 
‘complete the square’ process 
can be used to solve for x in 
terms of a, b, and c.

ax2 + bx = -c 

b2 – 4ac
4a2

(x +  b2a )2 = 

x2 +  x =  -ca
b
a

=  
b2

4a2 +  x2 +  x +  -c
a

b
a

b2

4a2

b
2 – 4ac
4a2x +  b2a  = ± 

b2 – 4ac
4a2x =  -b2a ± b2 – 4ac

2a=  -b2a ± 

x =  
b2 – 4ac

2a
-b ± 
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written in standard form.  The 
‘complete the square’ process 
can be used to solve for x in 
terms of a, b, and c.

ax2 + bx = -c 

b2 – 4ac
4a2

(x +  b2a )2 = 

x2 +  x =  -ca
b
a

=  
b2

4a2 +  x2 +  x +  -c
a

b
a

b2

4a2

b
2 – 4ac
4a2x +  b2a  = ± 

b2 – 4ac
4a2x =  -b2a ± b2 – 4ac

2a=  -b2a ± 

x =  
b2 – 4ac

2a
-b ± 

ax2 + bx + c = 0



  

The Quadratic Formula

This is a quadratic equation 
written in standard form.  The 
‘complete the square’ process 
can be used to solve for x in 
terms of a, b, and c.

ax2 + bx = -c 

b2 – 4ac
4a2

(x +  b2a )2 = 

x2 +  x =  -ca
b
a

=  
b2

4a2 +  x2 +  x +  -c
a

b
a

b2

4a2

b
2 – 4ac
4a2x +  b2a  = ± 

b2 – 4ac
4a2x =  -b2a ± b2 – 4ac

2a=  -b2a ± 

x =  
b2 – 4ac

2a
-b ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

ax2 + bx + c = 0



  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

The quadratic formula can be used to solve any second 
degree equation.  



  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

The quadratic formula can be used to solve any second 
degree equation.  The purpose of the remainder of this 
lesson is to demonstrate how to use it.
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.

If ax2 + bx + c = 0, then
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b2 – 4ac
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -3   
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.

a = 1   b = -3   c = -5
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.

a = 1   b = -3   c = -5

x =  
3  
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Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.

a = 1   b = -3   c = -5

x =  
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.

a = 1   b = -3   c = -5

x =  
9 3 ± 
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.

a = 1   b = -3   c = -5

x =  
9  3 ± 
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.

a = 1   b = -3   c = -5

x =  
9 – 3 ± 
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Solve each of the following using the quadratic formula. 
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Step 1:  Identify the values of a, b, and c.
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a = 1   b = -3   c = -5

x =  
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.

a = 1   b = -3   c = -5

x =  
9 – (4)(1)(-5)3 ± 
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x =  
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.

a = 1   b = -3   c = -5
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1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.

a = 1   b = -3   c = -5
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

a = 1   b = -3   c = -5
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Step 1:  Identify the values of a, b, and c.
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Step 3 :  Evaluate the discriminant: b2 – 4ac.

a = 1   b = -3   c = -5
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Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

a = 1   b = -3   c = -5
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Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

a = 1   b = -3   c = -5
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Step 1:  Identify the values of a, b, and c.
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a = 1   b = -3   c = -5
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Step 3 :  Evaluate the discriminant: b2 – 4ac.
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If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -3   c = -5

x =  
9 – (4)(1)(-5)

2
3 ± 29

2
3 ± 

=  

Algebra II   Class Worksheet   #5   Unit 6





  

Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -3   c = -5

x =  
9 – (4)(1)(-5)

2
3 ± 29

2
3 ± 

=  

Algebra II   Class Worksheet   #5   Unit 6

x =  





  

Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 
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Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -3   c = -5

x =  
9 – (4)(1)(-5)

2
3 ± 29

2
3 ± 

=  
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -3   c = -5

x =  
9 – (4)(1)(-5)

2
3 ± 29

2
3 ± 

=  

or  
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -3   c = -5

x =  
9 – (4)(1)(-5)

2
3 ± 29

2
3 ± 

=  

or  
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -3   c = -5

x =  
9 – (4)(1)(-5)

2
3 ± 29

2
3 ± 

=  

or  
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -3   c = -5

x =  
9 – (4)(1)(-5)

2
3 ± 29

2
3 ± 

=  

or  
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -3   c = -5

x =  
9 – (4)(1)(-5)

2
3 ± 29

2
3 ± 

=  

or  
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -3   c = -5

x =  
9 – (4)(1)(-5)

2
3 ± 29

2
3 ± 

=  

or  
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Solve each of the following using the quadratic formula. 

1.     x2 – 3x – 5 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -3   c = -5

x =  
9 – (4)(1)(-5)

2
3 ± 29

2
3 ± 

=  

or  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b =
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c =
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

x =  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

x =  
5 
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

x =  
5
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

x =  
5 ± 
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
5 ± 
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

Algebra II   Class Worksheet   #5   Unit 6

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6
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The Quadratic Formula
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

Algebra II   Class Worksheet   #5   Unit 6

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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2a
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

Algebra II   Class Worksheet   #5   Unit 6

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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2a
-b ± 
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

Algebra II   Class Worksheet   #5   Unit 6

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

x =  
5 ± 25 – 



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

Algebra II   Class Worksheet   #5   Unit 6

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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2a
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6
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If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

x =  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

Algebra II   Class Worksheet   #5   Unit 6

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

x =  
5 ± 25 – (4)(1)(6)



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6
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If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

x =  
5 ± 25 – (4)(1)(6)

2



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

Algebra II   Class Worksheet   #5   Unit 6

x =  
2

5 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

25 – (4)(1)(6)



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

Algebra II   Class Worksheet   #5   Unit 6

x =  
2

5 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

25 – (4)(1)(6)



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

Algebra II   Class Worksheet   #5   Unit 6

x =  
25 – (4)(1)(6)

2
5 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

Algebra II   Class Worksheet   #5   Unit 6

x =  
25 – (4)(1)(6)

2
5 ± 

=  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6
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x =  
25 – (4)(1)(6)

2
5 ± 5 ± 

=  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6
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x =  
25 – (4)(1)(6)

2
5 ± 5 ± 

=  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6
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x =  
25 – (4)(1)(6)

2
5 ± 15 ± 

=  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6

Algebra II   Class Worksheet   #5   Unit 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = -5   c = 6
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x =  
2

5 ± 1
2

5 ± 
=  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

25 – (4)(1)(6)



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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 5 ± 1 
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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5 ± 1 
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x =  2
5 + 1 



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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x =  2
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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x =  x =  2
5 + 1 

or  



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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x =  x =  2
5 + 1 

2
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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x =  x =  2
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2
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or  

x =



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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x =  x =  2
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2
5 – 1 

or  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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5 ± 1 
=  

x =  x =  2
5 + 1 

2
5 – 1 

or  
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Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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2

5 ± 1 
=  

x =  x =  2
5 + 1 

2
5 – 1 

or  

x = 3  or  x =



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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2

5 ± 1 
=  

x =  x =  2
5 + 1 

2
5 – 1 

or  

x = 3  or  x = 2  



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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
2

5 ± 1 
=  

x =  x =  2
5 + 1 

2
5 – 1 

or  

x = 3  or  x = 2  



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  

Algebra II   Class Worksheet   #5   Unit 6
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2

5 ± 1 
=  

x =  x =  2
5 + 1 

2
5 – 1 

or  

x = 3  or  x = 2  



  

Solve each of the following using the quadratic formula. 

2.     x2 – 5x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = -5   c = 6

x =  
25 – (4)(1)(6)

2
5 ± 1

2
5 ± 

=  
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
2

5 ± 1 
=  

x =  x =  2
5 + 1 

2
5 – 1 

or  

x = 3  or  x = 2  



  

Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4   c =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4   c =

Algebra II   Class Worksheet   #5   Unit 6

3.     x2 + 4x + 6 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4   c =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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a = 1   b = 4   c = 6
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4   c = 6
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4   c = 6
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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x =  
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6

Algebra II   Class Worksheet   #5   Unit 6

x =  
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If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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The Quadratic Formula

x =  
b2 – 4ac

2a
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4   c = 6
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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x =  
-4 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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x =  
16-4 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6

Algebra II   Class Worksheet   #5   Unit 6

x =  
16-4 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6

Algebra II   Class Worksheet   #5   Unit 6

x =  
16 – -4 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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x =  
16 – -4 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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x =  
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If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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x =  
16 – (4)(1)(6)-4 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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x =  
16 – (4)(1)(6)-4 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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x =  
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2
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If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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x =  
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2
-4 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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2a
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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x =  
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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If ax2 + bx + c = 0, then

The Quadratic Formula
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b2 – 4ac
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x =  
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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2
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
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x =  
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2
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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The Quadratic Formula
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b2 – 4ac
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2
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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The Quadratic Formula
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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The Quadratic Formula
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2
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2
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 4   c = 6
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4   c = 6
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=   



  

Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4   c = 6
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4   c = 6
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4   c = 6
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4   c = 6

Algebra II   Class Worksheet   #5   Unit 6

x =  

x =  
16 – (4)(1)(6)

2
-4 ± -8

2
-4 ± 

=  

2  i
2

-4 ± 2 

 





  

Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4   c = 6

Algebra II   Class Worksheet   #5   Unit 6

x =  

x =  
16 – (4)(1)(6)

2
-4 ± -8

2
-4 ± 

=  

2  i
2

-4 ± 2 
=  2  i-2 ± 

 



x =



  

Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 4   c = 6

Algebra II   Class Worksheet   #5   Unit 6

x =  

x =  
16 – (4)(1)(6)

2
-4 ± -8

2
-4 ± 

=  

2  i
2

-4 ± 2 
=  2  i-2 ± 

or

 



2 ix = -2 +  2 ix = -2 – 



  

Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 

3.     x2 + 4x + 6 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula
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Solve each of the following using the quadratic formula. 

4.     x2 + 6x + 9 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

Algebra II   Class Worksheet   #5   Unit 6



  

Solve each of the following using the quadratic formula. 

4.     x2 + 6x + 9 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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2a
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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2a
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
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a = 1   b =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula
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b2 – 4ac
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a = 1   b = 6   c =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula
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2a
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula
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a = 1   b = 6   c =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 1   b = 6   c = 9

Algebra II   Class Worksheet   #5   Unit 6

4.     x2 + 6x + 9 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 

4.     x2 + 6x + 9 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 

4.     x2 + 6x + 9 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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2a
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Solve each of the following using the quadratic formula. 

4.     x2 + 6x + 9 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 6   c = 9
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Solve each of the following using the quadratic formula. 

4.     x2 + 6x + 9 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 6   c = 9
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Solve each of the following using the quadratic formula. 

4.     x2 + 6x + 9 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 6   c = 9
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Solve each of the following using the quadratic formula. 

4.     x2 + 6x + 9 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 6   c = 9
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Solve each of the following using the quadratic formula. 

4.     x2 + 6x + 9 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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2a
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a = 1   b = 6   c = 9
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Solve each of the following using the quadratic formula. 

4.     x2 + 6x + 9 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 1   b = 6   c = 9
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Solve each of the following using the quadratic formula. 

4.     x2 + 6x + 9 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  
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Solve each of the following using the quadratic formula. 

5.     3x2 + 2x – 3 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 
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Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
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Solve each of the following using the quadratic formula. 
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Solve each of the following using the quadratic formula. 
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 
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Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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a = 3   b = 2   c = -3
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Solve each of the following using the quadratic formula. 
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Step 1:  Identify the values of a, b, and c.
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Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b = 2   c = -3

Algebra II   Class Worksheet   #5   Unit 6

x =  
4 – (4)(3)(-3)

6
-2 ± 

6
-2 ± 

=   40
6

-2 ± 2
=  

10

3
-1 +

x =  
10



  

Solve each of the following using the quadratic formula. 
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Solve each of the following using the quadratic formula. 

5.     3x2 + 2x – 3 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

5.     3x2 + 2x – 3 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

5.     3x2 + 2x – 3 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 
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Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b = 2   c = -3

Algebra II   Class Worksheet   #5   Unit 6

x =  
4 – (4)(3)(-3)

6
-2 ± 

6
-2 ± 

=   40
6

-2 ± 2
=  

10

or  3
-1 +

x =   0.72
10

3
-1 –

x =   -1.39
10



  

Solve each of the following using the quadratic formula. 

5.     3x2 + 2x – 3 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b = 2   c = -3

Algebra II   Class Worksheet   #5   Unit 6

x =  
4 – (4)(3)(-3)

6
-2 ± 

6
-2 ± 

=   40
6

-2 ± 2
=  

10

or  3
-1 +

x =   0.72
10

3
-1 –

x =   -1.39
10



  

Solve each of the following using the quadratic formula. 

5.     3x2 + 2x – 3 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b = 2   c = -3
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x =  
4 – (4)(3)(-3)

6
-2 ± 

6
-2 ± 

=   40
6

-2 ± 2
=  

10

or  3
-1 +

x =   0.72
10

3
-1 –

x =   -1.39
10



  

Solve each of the following using the quadratic formula. 

5.     3x2 + 2x – 3 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b = 2   c = -3

Algebra II   Class Worksheet   #5   Unit 6

x =  
4 – (4)(3)(-3)

6
-2 ± 

6
-2 ± 

=   40
6

-2 ± 2
=  

10

or  3
-1 +

x =   0.72
10

3
-1 –

x =   -1.39
10



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

Algebra II   Class Worksheet   #5   Unit 6

6.     6x2 – x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =

Algebra II   Class Worksheet   #5   Unit 6

6.     6x2 – x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =

Algebra II   Class Worksheet   #5   Unit 6

6.     6x2 – x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =

Algebra II   Class Worksheet   #5   Unit 6

6.     6x2 – x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 6

Algebra II   Class Worksheet   #5   Unit 6

6.     6x2 – x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 6

Algebra II   Class Worksheet   #5   Unit 6

6.     6x2 – x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

Algebra II   Class Worksheet   #5   Unit 6

6.     6x2 – x – 1 = 0 
a = 6   b =



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

Algebra II   Class Worksheet   #5   Unit 6

6.     6x2 – x – 1 = 0 
a = 6   b =



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

Algebra II   Class Worksheet   #5   Unit 6

a = 6   b =
6.     6x2 – 1x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

Algebra II   Class Worksheet   #5   Unit 6

a = 6   b = -1
6.     6x2 – 1x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

Algebra II   Class Worksheet   #5   Unit 6

a = 6   b = -1
6.     6x2 – x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

Algebra II   Class Worksheet   #5   Unit 6

a = 6   b = -1   c =
6.     6x2 – x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

Algebra II   Class Worksheet   #5   Unit 6

a = 6   b = -1   c =
6.     6x2 – x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

Algebra II   Class Worksheet   #5   Unit 6

a = 6   b = -1   c = 
6.     6x2 – x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

Algebra II   Class Worksheet   #5   Unit 6

a = 6   b = -1   c = -1
6.     6x2 – x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

Algebra II   Class Worksheet   #5   Unit 6

a = 6   b = -1   c = -1
6.     6x2 – x – 1 = 0 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
1

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
1

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
1 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
1 ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
1 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
11 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
11 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
1 – 1 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
1 – 1 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
1 – (4)(6)(-1)1 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
1 – (4)(6)(-1)1 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
1 – (4)(6)(-1)1 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
1 – (4)(6)(-1)

12
1 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
1 – (4)(6)(-1)

12
1 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

x =  
1 – (4)(6)(-1)

12
1 ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

x =  
1 – (4)(6)(-1)

12
1 ± 



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
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6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 
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Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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x =  
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a = 6   b = -1   c = -1
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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a = 6   b = -1   c = -1
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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2a
-b ± 

a = 6   b = -1   c = -1
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 6   b = -1   c = -1
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 6   b = -1   c = -1
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac
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-b ± 

a = 6   b = -1   c = -1

Algebra II   Class Worksheet   #5   Unit 6

x =  
1 – (4)(6)(-1)

12
1 ± 

12
1 ± 

=   25 =  12
1 ± 5 

x =  x =  12
1 + 5 

12
1 – 5 

or  

or  x =   -1 
3x =   1 

2



  

Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac
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a = 6   b = -1   c = -1
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Solve each of the following using the quadratic formula. 

6.     6x2 – x – 1 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 6   b = -1   c = -1
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3

Algebra II   Class Worksheet   #5   Unit 6

7.     3x2 + 2x + 2 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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2a
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula
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a = 3   b =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula
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a = 3   b = 2
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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2a
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a = 3   b = 2   c =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b = 2   c =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b = 2   c =
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
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Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  
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Step 1:  Identify the values of a, b, and c.
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Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Step 1:  Identify the values of a, b, and c.
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Step 3 :  Evaluate the discriminant: b2 – 4ac.
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7.     3x2 + 2x + 2 = 0 
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Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Step 1:  Identify the values of a, b, and c.
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Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac
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a = 3   b = 2   c = 2
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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2a
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a = 3   b = 2   c = 2
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
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2a
-b ± 

a = 3   b = 2   c = 2
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6 =  x =  
4 – (4)(3)(2)-2 ± 

6
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Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b = 2   c = 2
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3 +  i  5



  

Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b = 2   c = 2
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6 =  x =  
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6
-2 ± -20

x =  =  3
5 i-1 ±  

6
5 i-2 ± 2 

or  3x =  -1 
3 +  i  5 x =  



  

Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b = 2   c = 2
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6 =  x =  
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6
-2 ± -20

x =  =  3
5 i-1 ±  

6
5 i-2 ± 2 

or  3x =  -1 
3 +  i  5

3x =  -1 
3 –  i  5



  

Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b = 2   c = 2

Algebra II   Class Worksheet   #5   Unit 6

6 =  x =  
4 – (4)(3)(2)-2 ± 

6
-2 ± -20

x =  =  3
5 i-1 ±  

6
5 i-2 ± 2 

or  3x =  -1 
3 +  i  5

3x =  -1 
3 –  i  5



  

Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b = 2   c = 2

Algebra II   Class Worksheet   #5   Unit 6

6 =  x =  
4 – (4)(3)(2)-2 ± 

6
-2 ± -20

x =  =  3
5 i-1 ±  

6
5 i-2 ± 2 

or  3x =  -1 
3 +  i  5

3x =  -1 
3 –  i  5



  

Solve each of the following using the quadratic formula. 

7.     3x2 + 2x + 2 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 3   b = 2   c = 2
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6 =  x =  
4 – (4)(3)(2)-2 ± 

6
-2 ± -20

x =  =  3
5 i-1 ±  

6
5 i-2 ± 2 

or  3x =  -1 
3 +  i  5

3x =  -1 
3 –  i  5



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 
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8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =

Algebra II   Class Worksheet   #5   Unit 6

8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =

Algebra II   Class Worksheet   #5   Unit 6

8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a =

Algebra II   Class Worksheet   #5   Unit 6

8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   
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8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   

Algebra II   Class Worksheet   #5   Unit 6

8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   b =

Algebra II   Class Worksheet   #5   Unit 6

8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   b =
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8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   b =
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8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   b = -12

Algebra II   Class Worksheet   #5   Unit 6

8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   b = -12

Algebra II   Class Worksheet   #5   Unit 6

8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   b = -12   c =
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8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   b = -12   c =

Algebra II   Class Worksheet   #5   Unit 6

8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   b = -12   c =
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8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   b = -12   c = 4
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8.     9x2 – 12x + 4 = 0 



  

Solve each of the following using the quadratic formula. 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   b = -12   c = 4
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Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   b = -12   c = 4
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Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

x =  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

x =  
12

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

x =  
12

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

x =  
12 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

x =  
12 ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

x =  
12 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

x =  
14412 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

x =  
14412 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

x =  
144 –12 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

x =  
144 – 12 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

x =  
144 – (4)(9)(4)12 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

x =  
144 – (4)(9)(4)12 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

x =  
144 – (4)(9)(4)12 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

18x =  
144 – (4)(9)(4)12 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

18x =  
144 – (4)(9)(4)12 ± 

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 



  

Solve each of the following using the quadratic formula. 

8.     9x2 – 12x + 4 = 0 

Step 1:  Identify the values of a, b, and c.
Step 2 :  Substitute the value of a, b, and c into the quadratic formula.
Step 3 :  Evaluate the discriminant: b2 – 4ac.

Step 4 :  Express the solutions in ‘best from’.  

a = 9   b = -12   c = 4

Algebra II   Class Worksheet   #5   Unit 6

If ax2 + bx + c = 0, then

The Quadratic Formula

x =  
b2 – 4ac

2a
-b ± 

18x =  
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Good luck on your homework !!



  


